Using Proportions to Make Predictions

Remember: A ratio is a comparison of two numbers


      A proportion is 2 equivalent ratios

1) At Morgan Elementary school the ratio of boys to girls is 5 to 4.
      5 boys  =            boys
If there are 100 girls at the school, how many boys are there?
      4 girls          100 girls

2) At a bakery, the ratio of the number of pies sold to the number 

of cakes sold is 4 to 3. If the bakery sold 24 pies, how many

   4 pies   =              pies
cakes did it sell?







  3 cakes               cakes

3) At Davis Middle School, the ratio of students to teachers is

20 to 1. If there are 40 teachers at the school, how many
  20 students =  _____________       
students are there?






    1 teacher                  

4) In a parking lot, the ratio of trucks to cars is 

2 to 3. If there are 20 trucks in the parking lot, 

______________ = _______________

how many cars are there?

5) The cafeteria manager noticed that the ratio 
of orange juice to milk sold during breakfast                ______________ = _______________

was 1 to 4. Set up and solve a ratio to tell how 

many OJs would be sold if 32 milks were sold.
6) These rectangles are proportional, so use a proportion to find the missing side length.






2 ft




     6 ft

     7 ft













_____ ft

7) In the 6th grade choir, the ratio of boys to girls is 1 to 3. 

If there are 48 students in the choir, how many are boys?

Be careful…







Predictions Worksheet
Set up a proportion, then solve. Write your answer on the line provided. If it’s not on that line, it won’t count as an answer!!

1) Four-fifths of Mrs. Baird’s students say they enjoy watching 

Sponge Bob Square Pants. If Mrs. Baird has 200 students, 
  4 enjoy it   =   _________

how many students enjoy this television show?

            5 students  
   200 students


Answer: ___________________

2) The ratio of chocolate candy to non-chocolate candy 

that Vince got for Halloween was 6 to 5. If he has 60

___________ = __________

non-chocolate candies, how many chocolate candies 

did he get?


Answer: ___________________

3) The ratio of football fans to basketball fans at 

DCMS is 5 to 4. If there are 100 football 


___________ = ___________

fans, how many basketball fans can you expect?


Answer: ___________________

4) Wanda’s tuna salad recipe calls for 4 tablespoons 

of mayonnaise for every 1 pound of tuna fish. If 

___________ = ____________

she has 6 pounds of tuna fish, how many tablespoons 

of mayonnaise will she need?


Answer: ___________________

5) 11 out of 15 students in Tonya’s school want to 
go to college. Use this ratio to predict the number 

____________ = ___________

of students that want to go to college if there are 

300 students in her school.

Answer: ___________________

6) Mr. Anderson always keeps the ratio of pens to pencils 

in his 1st grade classroom at 1:4. If there are 16 pencils 
____________ = ____________

in his classroom, how many pens does he have?


Answer: ___________________

7) The rectangles below are proportional. What is the missing side length?





      3 in





     6 in

          8 in






______ in

Answer: ___________________

8) The owner of Randall’s Convenience store noticed that for 

every 3 cherry lollipops sold, he sells only 1 grape lollipop. If 

__________ = __________

he is planning on stocking the shelves of his store with 90 cherry 

lollipops, how many grape lollipops should he put on the shelves?


Answer: ___________________

9) To make 6 cups of hot chocolate, Trevor 

uses 9 tablespoons of cocoa. How many

              cups =                  cups =                cups
tablespoons (TBSP) of cocoa should he 


   TBSP
         TBSP

   TBSP

use to make 10 cups of hot chocolate?
         

HINT: Simplify the original ratio first!!


Answer: ___________________

10) Terrence makes 6 out of every 10 free
throws he tries while playing basketball. 
How many free throws can you expect                        makes =                makes =              makes
him to make out of 25 tries? 


          tries                        tries                     tries    
HINT: Simplify the original ratio first!!

Answer: ___________________

